
juk; - 12(2018)  1         caph;Kiwikfs; njhopy;El;gtpay; 

      
 

 

 

 

 

 

                             

                                 

        gFjp - I 

                   

01. 3    

02. 4    

03. 2    

04. 5     

05. 1     

06. 3  

07. 2  

08. 2 

09. 5  

10. 3 

11. 4 

12. 3 

13. 1 

14. 4 

15. 2 

16. 3 

17. 1 

18. 4 

19. 5 

20. 3 

21. 5 

22. 4 

23. 5 

24. 2 

25. 1

 

      gFjp  II – A 

 

01. A.  i)  kz; tsp> Nrjdg; gjhh;j;jj;jpd; msT  ..................... (2× 3 = 6 Gs;spfs;) 

    ii)  taw; nfhs;ssT epiy  ...................................... (3Gs;spfs;) 

   iii)  xl;lw; gz;G/ gpizT tpir/ Nkw;gug;G ,Otpir/ ePhpd; KidTj;jd;ik 

      ...................  (2× 3 = 6Gs;spfs;) 

    iv)  kz; cyh;jiyj; jtph;j;jy;/ kz;zpw;F ,lg;gLk; Nghriz fOtpr; 

nry;yg;glhJ/   nghUj;jkhdJ  ...................................... (3Gs;spfs;) 

 B.  i)  cztpy; mlq;fpAs;s vspjpy; rkpghlilahj gFjpfs; my;yJ rpy 

Nghridf; $Wfs; clypdhy; ghjfkhd nghUs;fshf jtwhf 

,dq;fhzg;gLtjdhy; clypd; ePh;g;gPldj;  njhFjpapdhy; mtw;Wf;F 

vjpuhfj; Jhz;lw;NgW fhl;lg;gLjy;.  ...................................... (3Gs;spfs;) 

    ii)  a - FSl;ld; 

      b - FSl;ld;    ...................  (2× 3 = 6Gs;spfs;) 

    iii)  $l;lk; - Fungus 

            cjhuzk; - Aspergillus Flavus  ......................  (2× 3 = 6Gs;spfs;)  

 C.  i)  ePh;g;ghrdk; / kiotPo;r;rp - mWtilf;F mz;ikapy; mjpfhpj;jy;  ...............         

      ...................................... (3Gs;spfs;) 

     ii)  epoyhd ,lq;fspy; tsUjy;   ...................................  (3Gs;spfs;) 

 D.  i)  D = KS + C 

           D = 100×  2.075 − 1.965 + 𝑂 

           = 100× 0.110 

           = 11 m    ...................................  (3Gs;spfs;) 

   ii)  J}ukhdp    ...................................  (3Gs;spfs;) 

  iii)  cgfuzj;ij kl;Lg;gLj;jy;  ...................................  (3Gs;spfs;) 
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 E.  i)  a - tuk;Grhy; ePh;g;ghrdk; 

      b - ghj;jpKiw ePh;g;ghrdk; 

      c - FlePh;g;ghrdk;   ...................  (3× 3 = 9Gs;spfs;) 

   ii)  Moq;Fiwthd kz;/ CLGftpLk; jd;ik Fiwthd kz;  ...  (3Gs;spfs;) 

         (tpdh (1) nkhj;jk; =60Gs;spfs;) 

 

02. A.  i)  E× plant njhpT nra;jy;→ tsh;g;G+lfk; jahh; nra;jy;→ cl;GFj;jy;→

 ngUf;Fjy;→ Nth;tplr;nra;jy;→ fhytpzf;fg;gLj;jy;.                

                               (xOq;fhf Fwpg;gpl;lhy; kl;Lk; 3Gs;spfs;) 

  ii)           Kiw       cgfuzk; 

a. <untg;gKiw    mKf;ftLfyd; 

b. nrQ;#lhf;fy; kJrhu tpsf;F/ cyh;Fkpo; njhw;W ePf;fp 

c. cyh;ntg;gKiw fdyp  ...................  (3× 3 = 9Gs;spfs;) 

 iii)  a.  cl;GFj;jy; nra;Ak; gpuNjrj;jpYs;s tspiaj; njhw;W ePf;fy; 

nra;jy;. 

    b.  %lgilapypUe;J cUthfpa mq;Fuj;ij xj;j gy vz;zpf;ifahd 

mq;Fuq;fisg; ngwy; 

      ...................  (2× 3 = 6Gs;spfs;) 

 B.  i)  a - czitg; nghUj;jkhd Kiwapy; NgZjy;. 

    b - O2 , #hpa xsp Nghd;wtw;wpw;F jilahf ,Ue;J thAf;fshy; gf;fg;Gw 

eRq;FjypypUe;J   ghJfhj;jy;. 

      c - czTg; nghUSf;F tYit toq;fr; nra;Ak;. 

      d - ntspg;Gwkhd ePuhtpapypUe;J nfhs;fyidAk; czitAk; ghJfhj;jy;   

      ................... (4× 3 = 12Gs;spfs;) 

  ii)  Efh;Nthh; nrYj;j Ntz;ba gzk;/ cw;gj;jp nra;ag;gl;l ehL 

cw;gj;jpAld; njhlh;ghd jfty;fs;  .................   (2× 3 = 6Gs;spfs;) 

 

 C.  i)  “czTg; nghUspy; fhzg;gLk; Fwpj;j Nghridf; $wpy; clypdhy; 

cWQ;rpf; nfhs;sf; $ba msT caphpay; fpiljfT vdg;gLk;” 

      ...................................   (3Gs;spfs;) 

  ii)  GyDzh;T kjpg;gPL  ...................................  (3Gs;spfs;) 

 

 D.  i)  ngah;g;Gj;jlq;fy; - Vwj;jho 2 M 

   gag;Gj; jlq;fy; - 200 ,Yk; FiwT  .................   (2× 3 = 6Gs;spfs;) 

   ii)    V gag;G  = 𝑅𝐹 

      V nga;g;G   𝑅𝐴 

          Vo  = 0.8×
20×103

9.4×103  ...................................  (3Gs;spfs;) 

          = 1.702 V  
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 E.  i)  a - ePh;epiyapy; ePhpd; kl;lj;jpypUe;J gk;gp kj;jpa kl;lk; tiuapyhd ePh; 

cah;j;jg;gLk; epiyf;Fj;J cauk;. 

      b - gk;gpapd; kj;jpa kl;lj;jpypUe;J ePh; nfhz;L nry;yg;gLk; cr;r cauk;.   

      ...................... (2× 3 = 6Gs;spfs;) 

   ii)  7.5 m + 10 m + 0. 02 m 

           = 17.52 m    .....................................  (3Gs;spfs;) 

          tpdh (2) nkhj;jk; =60 Gs;spfs; 

      

gFjp II - B 

03. A.  i)  mWtilf;F gpe;jpa ,og;G - tiutpyf;fzk; ................................  (4Gs;spfs;) 
     fhuzk; :-  1. RthrtPjk; cah;T 
            2. ntspg;Gwk; nkd;ikahd Nkw;gug;G 
            3. mjpfsT ePh;j; jd;ik 
            4. nkd;ikahd ,ioaikg;G  

      .... (VjhtJ 3× 2 = 6Gs;spfs;) 
   ,og;igf; Fiwf;Fk; toptiffs; :-  

 ehspd; nghUj;jkhd Neuj;jpy; mWtil nra;jy;. 

 nghUj;jkhd cgfuzq;fspdhy; mWtil Nkw;nfhs;sy;. 

 tpis nghUl;fis Rj;jpfhpj;jy; 

 Rfhjhu ghJfhg;ghd #oypy; fsQ;rpag;gLj;jy; 

 nghUj;jkhd nfhz;L nry;yy; Kiwfisg; gad;gLj;jy;. 

                                  (5 tplak; tpsf;fj;Jld; 5× 4 = 20Gs;spfs;) 

                                                   (4+6+20= 30Gs;spfs;) 
 

B .  gy;NtW fopTg; gjhh;j;jq;fspdhy; khrile;J > kdpj Njitfspw;F gad;gLj;j 
Kbahj epiyapy; fhzg;gLk; ePh; fopTePh; vdg;gLk;. ,it ghpfhpg;gpw;F 
cl;glhky; #oypw;F tplg;gLk; NghJ #oy; khrilAk;. 

     ...................................  (6Gs;spfs;) 
     gbKiw :-  

1. Kjy;epiyr; Rj;jpfhpg;G  

 tbj;jy; 

 rkkhf;Fjy; 

 fopT ePhpYs;s rpwpa jpz;kg; gjhh;j;jq;fis mfw;wy;. 

2. ,uz;lhk; epiy Rj;jpfhpg;G/ caphpay; Rj;jpfhpg;G 

 fhw;Wtho; gw;wPhpahf;fs; %yk; 

 fhw;wpd;wp tho; gw;wPhpah %yk;  

3. %d;whk; epiy Rj;jpfhpg;G/ ,urhad Rj;jpfhpg;G  

                         (3 gbKiwfSk; tpsf;fkhf × 8 Gs;spfs;= 24 Gs;spfs;) 

                                                     6+ 24 =30Gs;spfs; 
 

 C.  epyj;jpw;F fPohf mike;Js;s ePiu CLGftplhj ghiwg;gil ePNue;jp vdg;gLk;.   
      ......................................... 6Gs;spfs; 
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    4 tif  

1. Ml;Brpad; :- ePiu CLGftplhj ,U ghiwg;gilfspw;fpilNa 
mike;Js;s ePh;> mjpf mKf;fj;jpy; fhzg;gLk; ePh; 

2. Ml;Brpad; my;yhj :- mjpf Moj;jpy; mike;jpuhj ePh;  
  cjhuzk; - fpzW  

3. gFjpahf kl;Lg;gLj;jg;gl;l :- ,e;j epug;gpfspd; Nky;/ fPohd gil 
gFjpahf CLGftplf; $baJ.  

4. Perched epug;gp ePh; kl;Lg;gLj;jg;gl;l ,lg;gug;gpy; gue;J fhzg;gLk;. ePz;l 
fhyj;jpy; ,y;yhky; NghfTk; $Lk;                     

(4 tif tpsf;fkhf × 𝟔 = 𝟐𝟒 Gs;spfs;) 

                    (6+24 = 30Gs;spfs;)  

                                           tpdh (3) 30+30+30= 90Gs;spfs; 
 

04. A -  gpujhd rq;fpypapd; NfhL (Base line) ,Uj;jy; Ntz;Lk;. 

   gpujhd rq;fpypapd; NfhL fhzpapd; eLg;gFjpapD}lhf mikjy; Ntz;Lk;;. 

  rhpghh;g;G NfhLfs; (check line) ,Uj;jy; Ntz;Lk;. 

 Fj;jsitfs; vjphpil ePsk; nghJthd 30 - 40 m Mf mikjy; Ntz;Lk;. 

 Kf;Nfhzpfis mikf;Fk; NghJ Nfhzq;fs; 300 - 1500 ,w;F ,ilapy; 
mikjy; Ntz;Lk;. 

 jilfs; jtph;f;fg;gLk; tifapy; cg mbf;NfhLfs; ,lg;gly;. 

 tphpNfhLfs; (𝑒𝑥𝑡𝑒𝑛𝑠𝑖𝑜𝑛 𝑙𝑖𝑛𝑒𝑠) mikg;gJ gaDilaJ.     

(6 tplak;× 4 = 24Gs;spfs;) 
 

                     glk; = 6Gs;spfs; 
      ............................     30Gs;spfs; 
 
 
 
 
 
 
 
 
 

 B -  cznthd;W cw;gj;jp nra;ag;gl;l re;jh;g;gj;jpypUe;J Efuf;$ba epiyapy; 
Ngzpf;nfhs;Sk; fhytsT tiu gOjilahJ fhzg;gLk; cr;r mstpyhd 
fhytPr;R cznthd;wpd; Ngz;jF fhyk; vdg;gLk;.  ................................ (6Gs;spfs; 
1. NeubKiw  

 czT Muk;g jahhpg;gpw;F cl;gLj;jg;gl;l epiyapy; Ngzg;gl;lthW 
Fwpg;gpl;l fhy ,ilntspapy; khjphpfs; ghprPypf;fg;gLk;. 

 Ez;zq;fp> ngsjPf> ,urhad czh;jpwd; ghpNrhjidfs; 
Nkw;nfhs;sg;gLk;. 

 czT gOjila Muk;gpf;Fk; fhyg;gFjpia fUj;jpy; nfhz;L 

MAl;fhy msT jPh;khdpf;fg;gLk;.  ................... (3× 4 = 12Gs;spfs;) 
 
 
 
 

10.8 

20.1 
3.2 

2.8 
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2. Neubaw;w Kiw  

a. Jhpjg;gLj;jg;gl;l MAl;fhy kjpg;gPL. 
 czT gOjilaf; $ba tha;g;Gf;fs; nraw;ifahf toq;fg;gl;L 

cztpd; MAl;fhyk; kjpg;gPL nra;ag;gLk;. ................................ (6Gs;spfs;) 

b. ca;j;jwp khjphpahf;fk;  
 ngw;Wf; nfhz;l juTfspd; mbg;gilapy; gw;wPhpahf;fspd; tsh;r;rp> 

,urhadg; gjhh;j;jk; khw;wkilAk; Ntfk; Nghd;wit ,j;jifa 
rpf;fyhd rkd;ghLfs; %yk; ngw;Wf; nfhs;sg;gLk;. ,jd; %yk; 
cztpd; MAl;fhyk; mwpag;gLk;.  ...................................... (6Gs;spfs;) 

               (6+12+6+6= 30Gs;spfs;) 

c. GAP, GMP, FHP, HACCP  ............. (4× 2.5 = 10Gs;spfs;) 

C

.

 

G

A

P

,

 

G

M

P

,

 

G
            

  

             (4× 𝟓 = 𝟐𝟎Gs;spfs;) 

                                           tpdh (4) 30+30+30= 90Gs;spfs; 
 

05. A.  kiokhdp -  1) epiya NtypapypUe;J 1.5m J}uj;jpy; epWTjy;. 

             2) Mtpahjw; jl;bypUe;J 5m J}uj;jpy; epWTjy;. 

    #hpagpufhrkhdp -  1) epykl;lj;jpypUe;J 1.5m cauj;jpy; 
                  2) fpof;F - Nkw;F jpirapy; 
 

  Mtpahjy; jl;L - epykl;lj;jpypUe;J 15 cm cauj;jpy; 
 tiy kiwg;gpdhy; %Ljy;. 

  <ucyh; ntg;gkhdp/];uptd;ryph; ngl;b - fjT - tlf;F/njw;fpy; ,Uj;jy;. 

       1.5m cauj;jpy; ,Uj;jy;. 

  kz;ntg;gkhdp - Fkpo;fs; Nkw;gug;gpypUe;J 5>10>20>30cm Moj;jpy; Gifj;jy;. 
       kpjpgLtij jtph;f;f NtypapLjy;. 

            (5 cgfuzk; fhuzq;fSld; tpsf;fpapUg;gpd; 5× 𝟔 = 𝟑𝟎Gs;spfs;) 
 
 
 

rpwg;ghd 
Kfhikj;Jt 
eilKiw 

Nehf;fk; 

GAP gaph;nra;epyk; njhlf;fk; njhopw;rhiy tiu fopTg; 
nghUl;fs; fyg;gij jtph;j;jy;  

c+k;: gaph;nra;epyk; njhpT nra;jy;> gPilf;fl;Lg;ghl;L 
Kiwfs; tay;Rfhjhuk;> ePhpd; juk; 

GMP czT cw;gj;jpfs; cah; Rfhjhu ghJfhg;ghd 
epge;jidfspd; fPo; rl;lhPjpahd juq;fSf;F mikthf 
cahpa juj;jpy; cw;gj;jp nra;tij cWjpg;gLj;jy;. 

GHP cjhuzk; czTg; gz;lnkhd;wpd; cw;gj;jpr; rq;fpypapd; 
xt;nthU gbKiwapd; NghJk; mt;Tztpd; ghJfhg;ig 
cWjp nra;tNjhL ,Wjp cw;gj;jpapd; juj;ijAk; 
cWjpg;gLj;jy;. 

HACCP czT gjg;gLj;jy; rhh;e;j nghUl;fspy; cs;s czT 
khriltjw;F VJthFk; fhuzq;fis ,dq;fhzy;> mtw;iw 

gFj;jha;jy;> mt;tghaq;fis ,ad;wsT Fiwg;gjw;F / 
ePf;Ftjw;F Mtd nra;jy;. 



juk; - 12(2018)  6         caph;Kiwikfs; njhopy;El;gtpay; 

 

 B.  czTg;ghj;jpuj;jpy; czT mw;wepiyapy; czT jhdhf tUjy; Ntz;Lk;. 
    czTg;ghj;jpuj;jpy; Fwpj;j msT czT epuk;gpaJk; czT tUjy; 

epWj;jg;gl Ntz;Lk;. 
    ,jid czh;tjw;F czTg;ghj;jpuj;jpy; czhp nghUj;jy; Ntz;Lk;. 
    ,t;czhp %yk; czT ,y;iy vDk; nga;g;Gj;jfty; Rw;iwr; nrd;wilAk;. 

    Control unit ,dhy; out put ntspaplg;gLk;. 
    czT toq;fw; FohapDs;s thy;T jpwf;fg;gLk;. 
    czTg;ghj;jpuj;jpy; czT NrUk;. 
   Fwpj;j msT czT epuk;gpaJk; czhp %yk; czug;gLk;. 
    kPz;Lk; nga;g;Gj; jfty; Rw;iwr; nrd;wilAk;. 
    czT toq;fw; FohapDs;s thy;T %lg;gLk;. 
    ,q;F nga;g;ghf cztpd; epiw fhzg;gLtJld; gag;ghf czT toq;fw; 

Fohapd; thy;T  njhopw;gLfpd;wJ.  ......    (10× 𝟑 = 𝟑𝟎 Gs;spfs;) 
        

 C.  i)  MtpahjyhtpAaph;g;G  

   = (9.0× 20 × 0.5) +  9.5 × 35 × 0.8 +  8.5 × 40 × 1.2 + (8.0 × 28 × 0.9) 

    = 9+266+408+201.6 = 884.6mm  
                  xt;nthU gUtj;jpYk; Mtpahjy; MtpAaph;g;G fzpj;jy;       

    ................................................................................................................ 4× 4 = 16Gs;spfs;  
         nkhj;j Mtpahjy; MtpAaph;g;G  ..............................................................  4Gs;spfs; 

                        ....................................................................     (16+4 =20Gs;spfs;) 
  

  ii)  ePh;g;ghrdj;jpd; NghJ tPz;tpuakhFk; ePhpd; msT  
      ePh; nfhz;L nry;yypd; NghJ Vw;gLk; ,og;G 
      ePiu kz;zpy; ,l;l gpd;dh; tpuakhFk; ePhpd;msT - fPo;tUjy;>Xbtopjy;. 
      gaph;r;nra;if tpNrl Njitfs; - epyk; gz;gLj;jy;> ehw;Wely;. 
      grisaplypd; NghJ  

       .............................................................................................     (4× 𝟐. 𝟓 = 𝟏𝟎Gs;spfs;) 

                                     tpdh (5) nkhj;jk; 30+30+30 =90Gs;spfs; 
 
 
 

           gFjp II  -  

                         A − 2 × 60 = 120 

                         B −2 × 90 =  180    

                                 300/2=  150  

 

            gFjp I 6 × 25 −       150 

                               300 Gs;spfs;       

 

             Practical    100 Gs;spfs; 

         400/4 = 100%  

 


